TS29 Cabinet Assembly

Product Images



https://jpw-catalog-qa-b2c-2.corevist.cloud/ts29-cabinet-assembly

Description

Index
Number

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

28

29

30

31

Part
Number

TS-1502041

TS29-075

T529-076

TS29-077

TS29-078

TS-1533032

TS-1550031

TS-2360121

T529-079

TS-236112

TS-2211451

TS29-080

TS-2244102

TS-154007

TS29-081

TS29-082

T529-083

TS29-084

T529-085

TS29-086

TS29-087

TS-1502021

TS29-088

TS-231121

T529-089

T529-090

T529-091

Description

Socket Head Cap Screw
Table Insert

Table Insert

Table Insert (Tilting)
Dust Chute

Pan Head Phillips Machine Screw
Flat Washer

Flat Washer

Cabinet

Lock Washer

Hex Cap Screw

Control Panel

Pan Head Phillips Machine Screw
Hex Nut

Fixed Screw

Spring

Knob

Front Cabinet Door
Front Door Handle
Latch Assembly

Hinge Bracket

Socket Head Cap Screw
Handwheel

Cap Nut

Knob w/Stud

Tilting Scale Base

Rear Cabinet Door

https://jpw-catalog-gqa-b2c-2.corevist.cloud/ts29-cabinet-assembly

Size

M5 x 16

2-1/2"1.D.

5-1/2" 1.D.

M5 x 10

M5

M12

M12

M12 x 45

M4 x 10

M10

M5 x 10

M12

Qty

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/ts29-cabinet-assembly

32 TS29-092
33 T529-093
34 TS29-094

Additional Information

Plastic Switch Cover
Speed Indicator Cover

Rear Door Latch Assembly

Stock Number

Products in this set

1791284-3

https://jpw-catalog-gqa-b2c-2.corevist.cloud/ts29-cabinet-assembly

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/ts29-cabinet-assembly

